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o PV AT BT 5 I % FT FIT-0H § JRT §T 8 T F97 35 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.

o gheEreff o7y T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ (@ 98 FrRET #Y o [ geT9A §U 7 & 8, qhEr & I 59
T g A aar @hwre & REr ki

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aar &

All questions are compulsory.

(i) 3797 F7% 1 @ 35 7% TGS F97 81 JA% 97 1 37 H 81 [RAFEN 57 597 %
g g

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer these questions as per instructions.
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@ - =i sglamediq 797 % el [4weq giag

Instruction : Select the correct option of the following multiple choice questions :

1. &% (W) SUBT B FTM ..ooeene. SERICTINCI U SR B F 1
A) 1,2 B) 2,1
) 2,2 D) 1,1
The egg apparatus consists of ........... synergids & ........... egg cell.
A 1,2 B) 2,1
) 2,2 D) 1,1
2. T AT g B TFET 5 7 1
(A) HR-A
(B) FMR-7
(C) ¥ 375
(D) diee

Which is not an IUD ?
(A) Cu-T
(B) Cu-7
(C) Multiload 375
(D) Vaults
3. 3T § HN-91 qeX F Sl a9 e § 7 1
(A) T
(B) T
(C) oMEld o
(D) dIT %l &
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Which of the following is recessive trait in Pea ?
(A) Tall
(B) Violet flower
(C) Axial flower

(D) Yellow pod colour

4. FA AERE FT Foad 8 7 1
(A) 64 (B) 63
(C) 62 (D) 61

Total number of genetic code is :

(A) 64 (B) 63
(C) 62 (D) 61
5. WIRA B : 1
(A)  famrop S T
(B) SEISlAT S AT
(C) S ST
(D) ¥ & P T
Malaria is :

(A) Viral disease
(B) Protozoan disease
(C) Bacterial disease

(D) None of these
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6. THifcH ot =T & | P T B ? 1

(A)  TERRE

(B) FIfefsam

(C) THRAeFRR

(D) &bAHEE

Acetic acid is produced by :

(A) Aspergillus

(B) Clostridium

(C) Acetobacter

(D) Saccharomyces
7. FERE HA-HE-H N H e R 7 1
(A) CHy, Oy, N,
(B) CHy, Oy, Hy
(C) CHy4, CO,, Hy
(D) & & K Tl
Composition of Biogas is :
(A) CHy, Oy, N,
(B) CHy, Oy, Hj
(C) CHy4, CO,, Hy

(D) None of these
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8. T @ HIM-T1 SORE WAl B BN M B Ao H HE HIA & ¢ 1
()  PrEfesT
(B) &
(C) ==
(D) ¥ q H& T
Which of the following enzyme is used to break cell wall of fungal cell ?
(A) Chitinase
(B) Cellulase
(C) Lysozyme
(D) None of these
9. gaﬁ?w?{aﬂﬁim H TR AT RN E SN T § H-8 e #ie ® e § wes
! 1
(A)  AfEreH
(B) RIS
(C) Rex™
(D) SudE @+l
Bacillus thuringiensis produce proteins which kills :
(A) Lepidopterans
(B) Coelopterans
(C) Dipterans
(D) All of the above

10. 8T +/0 fhd TReaite Bran & TeRid &< & ? 1
(A) HERRTr
(B) URET
(C) @t
(D) R
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The sign +/0 shows interaction :
(A) Commensalism

(B) Predation

(C) Competition

(D) Mutualism

fdsr : Sfaa 9=l &R Ry @& &1 gid %01 o7 997] % 37 @@ 47 & =] 7 qrrl 4 &l
Instructions : Fill in the blanks by appropriate words. Answer of other questions may
be given in one or two words or sentence.

11.

12.

13.

14.

15.

16.

17.

18.

oo v § & O .. 2l 1
Total number of chromosomes in Down's syndrome is .............. .

SRR a7 A BT S TS . ] 1
The genotype for blood group Ais .............. .

UTR &I I &9 e 1

Write down the full form of UTR.

.............. ¥ TS @9E (200-300) @ed &Y H W & 3' R W g S 81 1

In ...l adenylate residue (200-300) are added at 3' end in a template
independent manner.

HFEIT BY G HRINT ©S TARA ... &) A9 § I8 S 1
Discontinuously synthesized fragments are joined by enzyme .............. .
ST 4 § 7 1
What is Heterochromatin ?

fEEehY e bl QR &Y 1
Define Dihybrid Cross.

ST ATl g @ © 7 1

What are clestogamous flowers ?
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19.

20.

21.

22.

23.

24.

25.

26.

27.

(7) 5630/(Set : D)
ferdl i diee o g <1 & T ford 1

Name any hormone releasing [UDs.

AN ged A H qT A Al SIS qesial e (e fifeeféE) e B

1
.............. is a protozoan parasite in the large intestine of human which causes
amoebiasis (amoebic dysentry).

ferarey Bl BB ... HE MET H 0T HAN & SN STEHHT PIRIBIA 3
AR FNTo] EFAOT | e 2 1
Virus infected cells secrete proteins called .............. which protect non-

infected cells from further viral infection.

“dl ™ e Wl g | 1
Expand "CMI".

.............. i 8 IO Wi &1 AMRe &R W N W dlaedd ®f F9 & &
fore foan e & 1
Statins produced by Yeast ............... have been commercialized as blood

cholesterol lowering agent.

EIo &1 T I & 1
Give an example of Methanogen.

fopdll TEsTiar T ERT TGS REBICT B3 arel SHare] & A Ja| 1
Name any symbiotic Nitrogen fixing bacteria.

T T BH v q ofe didde ¢oEdl & aR § SHE 8 S Stargel & 230 §
A TE () § 9o Y T E R @ goe R 9eeE o @ eaEd &1 1
Till today we know more than .............. restriction enzymes that have been

isolated from over 230 strains of bacteria each of which recognize different
recognition sequences.

I WA H AW @ St DNA # T #31 & e awaiar O 1 ugdl REE 39 § qers
Bl 1
Name the stain which is used to see coloured bands of DNA in isolation of
DNA.
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29.

30.

31.

32.

33.

34.

35.

(8) 5630/(Set :

qfferRel e Sk & 3 @Xr § ¢
R Te qAT IBHY &l TER|
PCR consists of 3 steps :
Denaturation, ............. & extension of primers.

St g T & g &
Write full form of GEAC.

QT S G Sig & [ fhE oot B e 6 S e ?

For testing of safety of Polio vaccine which transgenic animal is used ?

el Yedl fohd ST H 3gie bl S @ o ?

In which bacteria insulin was synthesized first ?

HF-A o ST § o & ?

Which species undergo diapause ?

VAT T 8 7

Define Immigration.

GEITHIT FT 8 7

What is Mutualism ?

ST Bl IR A

Define Endemism.
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